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1. BREBROEL
(1) BHE I
B K £t M A 3,425,000  3,510,000f -85,000 3,143,800
- & - =& Z Db 1,100,000| 1,200,000 -100,000 1,038,800
= N 110,000 100,000 10,000 107,900
= =l 165,000 160,000 5,000 162,800
= e 2,000,000] 2,000,000 0 1,791,000
NB & 50,000 50,000 0 43,300
O & M A 1,460,000 1,800,000/ -340,000 1,390,000
F ff £ (MARR) 350,000  1,800,000|-1,450,000 330,000
Z £ (@A 900,000 0| 900,000 850,000
4 8 £ (Q1IF#K) 210,000 0| 210,000 210,000
BB & m A 12,157,000{ 13,010,000| -853,000 || 14,235,372
H ®x B E & B £ 2,007,000/ 3,000,000 -993,000 2,007,000
SHABRSBERAS 0|  1,000,000{-1,000,000 1,000,000
BNE/NFEREFFEREAS 407,000 400,000 7,000 407,000
2HARSEZEAS 1,000,000{ 1,000,000 0 0
Z DB E (hEEE) 600,000 600,000 0 600,000
2 % B @& B = 9,000,000 9,260,000 -260,000 || 11,378,372
GBNERFBERS 0 260,000| -260,000 235,712
ZoEFEeE (RLE - BFEmEE] 9,000,000 9,000,000 0] 11,142,660
BoR & B OB & 850,000 550,000{ 300,000 850,000
BNEREHRERS 150,000 150,000 0 150,000
ZDWBEEEE HERE LERE 700,000 400,000{ 300,000 700,000
z o fs B B ® 300,000 200,000 100,000 0
Z OB EE (KFEEEH) 300,000 200,000| 100,000 0
= E S I A 24.811,000| 18,323,000| 6,488,000 || 16,585,373
1% =) % 4,500,000  2,000,000| 2,500,000 4,300,000
I & = 0|  2,000,000{-2,000,000 0
ZOMHEREE 0| 2,000,000[-2,000,000 0
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B2kl (FER - QTAER) 4463000 4,923,000 -460,000 || 3,819,000
L EABHHBERR 0 500,000 -500,000 500,000
EINBEFBREFEAS 10,000 10,000 0 10,000
B EEEE K- kakE FER 980,000 980,000 0 980,000
2 AARRERBERLBERAS 5,000 5,000 0 5,000
ERABASEIBRA)IEFES 10,000 10,000 0 10,000
B BN AR PSR AR 3,000 3,000 0 3,000
B BRSPS - BRAR 5,000 5,000 0 5,000
B BREHBEAS 0 10,000| -10,000 10,000
S AABHEELRS 1,200,000/ 1,200,000 0 0
ZDMEREE (AR - B R 700,000 500,000{ 200,000 746,000
JbEEFIERS 0 0 0 0
SRvS Y 1550.000] 1,700,000 -150,000 || 1,550,000
S fn Kt 15.150,000]  8,955,000{ 6,195,000 || 7,233,800
BB FBREFEAS 1.800,000] 2,000,000 -200,000 || 1,784,600
2 ARPERBERLFERAS 850,000 800,000/ 50,000 0
EEABASELERAIIETFES 1,700,000 1,700,000 o[l 1,488,200
B BNFAERE BRI AR 250,000 250,000 0 209,500
B BhREKEs - BRAR 200,000 180,000{ 20,000 206,000
RIBEREEEAR 300,000 300,000 0 330,000
FELE 1,100,000  1,000,000{ 100,000 0
NEEREST 5,500,000 0| 5,500,000 0
ZoMBEFEEE (RREHFSE) 1,900,000 1,200,000{ 700,000 1,834,500
A BE#EEFIEASR 950,000| 1,000,000 -50,000 924,000
TEEEFEAS 600,000 525,000/ 75,000 457,000
Z O fb (Fost - BEEE - C—4E 698,000 445,000] 253,000 578,300
BB FBEREFEAS 40,000 40,000 0 42,000
FIEBEE 2 K—Y Aok R 30,000 20,000] 10,000 30,000
2 AARERBERLFERAS 0 15,000  -15,000 24,000
ERAEBASEFERRA)IEFES 15,000 20,000{  -5,000 16,500
B BNFERE SR AR 60,000  80,000{ -20,000 60,000
RINERFREFES - BRAS 0 0 0 0
ERAFEBRE 0 0 0 0
R BRESEEAS 3,000 10,000  -7,000 2500
__¥FHEiLS 50,000 50,000 0 0
_ 0@Emasta 100,000 0| 100,000 0|
ZOWBEREE (S * /T EED 200,000 200,000 200,000 || 403,300
RNEMBHRERFERS 0 10,000 -10,000 0
Jhefe PR RFIERS 0| 0 0 0
ERTT v 0 0 0 ) 0
K I3 A 450,100 400,100] 50,000 654,273
B 0w Al £ 100| 100 0 86
3 Iy A 450,000 400,000/ 50,000 654,187
RBUINZEE 42,303,100] 37,043,100] 5,260,000 || 35,354,545
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(2) BBER 0
= ES = 35,130,000f 29,020,000| 6,110,000 || 27,155,987
5 53 = = 19,130,000| 13,420,000{ 5,710,000 || 10,427,670
SHABSBREAS 0|  1,100,000{-1,100,000 1,024,497
BINEEEREEFERS 1,400,000 1,400,000 0 1,396,069
A BEEE X R—Y kEE R 700,000 700,000 0 512,727
LHAAPERBERE LHRAS 850,000| 1,000,000 -150,000 0
ERABASELHRA/IIEFRSE 1,300,000/ 1,300,000 0 1,230,886
BINENRERE FFRAS 600,000 550,000 50,000 513,598
BINEBERZEFES - BRAR 170,000 180,000/ -10,000 170,868
BNERAFEARE 0 260,000 -260,000 235,712
BNEBREREAS 900,000 900,000 0 868,763
FMEBLS 1,200,000 1,000,000/ 200,000 49,674
LHAHGSEZAS 1,900,000 1,200,000/ 700,000 12,994
EER AL 5,500,000 0| 5,500,000 0
ZoHRESE (RRHa%) 2,310,000 1,600,000{ 710,000 2,243,789
AEMERERFIEAS 1,000,000| 1,000,000 0 1,059,573
tpERFIERS 600,000 480,000{ 120,000 457,520
SRSV v 700,000 750,000[ -50,000 651,000
G 1t = 14,100,000| 13,100,000{ 1,000,000 || 15,610,998
= = ' B 6,000,000 6,000,000 0 7,751,000
w ot B o7y & E 1,300,000{ 1,000,000 300,000 1,210,000
Vil E & 3,500,000f 3,000,000 500,000 5,442,362
R i3 & 300,000 500,000 -200,000 54,576
ZommiE (& Y EEREE] 3,000,000 2,600,000( 400,000 1,153,060
E & # 1,900,000{  2,500,000| -600,000 1,117,319
T kR & B = & 300,000 500,000 -200,000 0
E & XK E F = 400,000 500,000 -100,000 0
DiK E =1 900,000 500,000{ 400,000 824,023
= o #H T R & 300,000  1,000,000| -700,000 293,296
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= i & 7,173,100 8,023,100 -850,000 6,423,262
= % B & 4,350,000| 4,500,000 -150,000 3,466,726
EHENGE)/ EEeiBE/EFNEEYE 2,100,000 2,000,000{ 100,000 1,663,000

= ¥ B B g = 1,500,000 1,500,000 0 1,048,076

& & £l 750,000| 1,000,000 -250,000 755,650

i & 1,100,000  1,500,000| -400,000 1,138,755

B 3 - x B & 1,100,000 1,500,000 -400,000 1,138,755

e S & 340,000 410,000/ -70,000 372,797
BEExE &/ F 7 B 2 & 300,000 80,000 220,000 282,267

= 0o M & & B 40,000 330,000 -290,000 90,530

I B BE B = & 0 0 0 0
w B == E T B 300,000 300,000 0 284,625
Ep ] = 300,000 300,000 0 284,625

] = & 450,000 700,000 -250,000 456,000
B = = 450,000 700,000| -250,000 456,000

x B =1 400,000 400,000 0 386,000
B B =1 400,000 400,000 0 386,000

ME ¢ 233,100 213,100{ 20,000 318,359
5 B = I 233,100 213,100( 20,000 318,359
BEER 42,303,100 37,043,100{ 5,260,000 || 33,579,249
SIS 2SR AT L EA B R AR 0 0 0 1,775,296
THmIBREET 0 0 0 0
LER S8R 0 0 0 0
2. BENMEROE 0 0 0 0
(1) BENUNZR 0 0 0 0
R ANRET 0 0 0 0
(2) BEHNER 0 0 0 0
BEAERET 0 0 0 0
LRSI REE 0 0 0 0

4 HE — A% IE R B BE 38 AR 0 0 0 0
—RIERMERERS 0 0 0 0

— R IERRE R R A S 0 0 0 0

Il $57E IERREFEE IR OO BF 0 0 0 0
L HB4E TE IE R BA EE SR REE 0 0 0 0
EEEGRMEREES 3.000,000] 3,000,000 o || 3,000,000
IEE ERM ERRES 3,000,000] 3,000,000 0 3,000,000

Il EREEHRES 3.000,000] 3,000,000 0 3,000,000
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